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1la. Explain one consequence of the Warsaw Pact

invasion of Czechoslovakia.
(4 marks)




1b. Explain one consequence of the Marshall Plan.
(4 marks)




2. Write a narrative account analysing the Berlin
Blockade (1948-49).
You may use the following in your answer:
- West Germany's economy
- The Airlift
You must also use information of your own.

(8 marks)







3. i. Explain the importance of the Truman Doctrine
(1947) for escalating tensions between the USA and
USSR.

3. ii. Explain the importance of détente in de-
escalating tensions between the USA and USSR.

(16 marks)










